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4€p|> Are, both Qﬁzwﬁhhoﬂé (N B';” fovmat ?
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Y245+t = x—=8
Steps) 96# the Q(Lua/hm equal fo 2ero by (Dmbm:@ | ike ferms

XA ox +4
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STor ,!, L Since, there 1s a
negahve vnder the Square root—y
\maqman{ V101 besr

H Which means Hus  system has No SoLumion , NO
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ytax == lo — Linear Equahon
Slepl) Are bothe e wochons in 'Y= " Format 7
Jes o (60
The Linear Qctua.ﬁm needs 4o be (/hange:;Q

yr3x = -l
— 3% =X

Y L -3x-b —> New lLinear E{wﬁ}m

Skp2) Jet equah ms equal +o edch other
X2ygytlz= =3x—lo
X2 exyie 4 - 3x-lp
3+ | +x+le
F k(8 = O
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\C/ﬁ"\ﬁ ]ff, W!’ (y +D e +2) =0
X+9 =0 X+2=0
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Slf/p‘b)wu{/) . info L neds E@ua:hm b finel \/

when  Y=Bx-lo when  y§=-Bx-b
::-"'o] 8 = ——3(’CI)-—-L9 X ==0 Ly;fa(;_-z) -
9=27-t Y=l
y=13 Yy =0

Answer) Two  Indersechon Points @ (-9,13) and (2,0)



